
LI: I am learning to estimate calculations using the 4 operations.  

 

 

Question 

 

 

Rounded Question 

 

Estimated 

Answer 

 

Actual Answer 

 

 

   

 

 

   

 

17.5 x 6.8 

   

 

156.8 ÷ 8.3 

   

 

 

   

 

 

   

 

744 x 1,392 

   

 

 

   

 

 

   

 

 

   

 

£66.78 x 

9.11 

£3292.86 ÷ 

6 

When you have finished, use a calculator to find how accurate your 

estimations were!  

15,672 + 

7,821 

13,944 – 

4,522 

42,753 + 

121,555 

156,788 – 

84,445 

163.77 ÷ 

42.2 


